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General Instructions :

(1)
(1)

(i)

(iv)

)

All questions are compulsory,

The question paper consists of 40 questions and it is divided into sections A, B, Cand D,

Section A comprises of 20 questions of 1 mark each. Section B compnses of 6 questions of 2 marks each.
Section C comprises of 8 questions of 3 marks each. Section D comprises of 6 questions of 4 marks each,
There is no overall choice. However, an internal choice has been provided in two questions of | mark cach,
two questions of 2 marks each, three questions of 3 marks cach and three questions of 4 marks each. You
have to attempt only one ofthe alternatives in all such questions,

Use of calculator is not permitted.
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Question number 1 10 10 are multiplke choice questions. Select mest approprate answer tromthe given

Ophons.
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LCM and HCF oftwo numbers are 504 and 6 respectively. [fone number 1s 72, then other number is
(a) 142 u‘b]-.'.: (c) 36 (d) 24
i T = T e e B S w0 l
43

After how many places of decimals, the decimal expansion of the rational number ——— will terminate ?

(a)2 (b) 3 (c)= (d)s
—
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x = 9y =k have intinitely many solutions. The value ofk s

o,

The system of equations 2x =3y =3,

(a) 13 (b) 10 (¢) S (d) 18

-
—

o= (3.0) FR(0,-3) = ===

=
a—
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(2)0 (b) 6 == () 33 7= @ 25

The distance between the points (3, 0) and (0, - 3) is:
(2)0 (b) 6 units (¢) 34/2 units (d) 243 units

=fe fags A(-2,3) ¥R B (a, b) =i Sz T TarETE = s fag P (0, 4) ¥, T o 3R b S WE wmEw:
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IfP (0, 4) is the mid point of the line segment joining the points A (-2, 3) and B (a, b), then values of aand

b respectivelyare:
(a)2,-3 (b)2,5 (©)-2,5 (d)3,-2
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Distance ofthe point (4, - 3) from the origin is ;

(@) 5 units (b) 4 units (c) 25 units (d) /7 units
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\j’./ Al tan A - 12 VM SinA + cos AT HRE A —
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[(ManA = E then value of sin A + cosAfs:
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(a) 2 (b) — I | .2
E 13 (c) AT
.E’_,/ 17 cos {‘40*:+ X) = 8in 50° 81, M x %1 4H Am— I
Ifcos (40° + x) = sin 507, then value of x is :
(a) O° (b) 10° (c)20° (d) 50°

9.  Afe femma wfrmm g + he+ o - 0, 5 a, b, e avafas TGt 3 g » 0, & A At ag) 7= §, @
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Ifa quadratic equation ax® + by + ¢ = 0, where a, b, ¢ are real numbers and « # 0, has real and equal roots,
s Ly ti
then ; S
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(a) D=0 {bJD_éﬂ (c)D=<0 (dyD=0
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P (b)x —A (c)

(a)

i (d) A-x,
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Chandan calculated the mean ofa grouped data using the formula ¥ = A +

(A =assumed mean, s = class size)

A — .rr .t', = A

h (B)x,-A : (c) h
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Value of sin (60° + 0) — 08 (30° — 0) iS .vvvvovvevreeeenrenes
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The total surface area of the tent shown in the figure is ........oove.. -

13- AABCH, ZB = 90° 30 AC? = 2AB* 91,7 AB =

-------------

In AABC, if £ZB = 90" and AC? = 2AB, thenAB = ._.......... 4
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The common point of a tangent and the circle is called ..............
14, ’TfF.'Tl?ﬁA.I’_Eﬁu'ﬁiwﬁms_=2n:+3n?ﬁ,ﬁ1mﬁmﬂﬂa ----- branreaaee tauill

[fthe sumto nterms ofan AP is S = 2n° + 3n, then its third termis ............ .

15 U W W U AW Hwl A E TR W U A AT S A WAR e
A die is \nrown once. The probability of getting an odd prime number is ................ :

jﬁ/ﬂ FHTTA W wems R, (HCF) #1872
What is the HCF of two consecutive natural numbers ?
17, foam e 2+ x4 | = (@ gl w1 WE T wifa )

Find the nature ofroots of the quadratic equation x* + x+ 1 =0.
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Write the quadratic polynomul whose zeroes are 2 and 3.
AP 13,5, ... 1001 & o %} vz w0 W)
Find the number of terms in the AP 1,35 ....1001.

Sk Ik ABC = wwamg fa &, fomst o = &fad o' #) yed vindete AD &7 sfad 7 wifey

In figure, ABC is an equilateral trangle with side oflength *@”. Find the length of its altitude AD

20. TEf # x w1 w9 www

In figure, find the value of x.

0O - Centre (=)

@UE-T (Section-B)
e F6&T 21 | 26 7% WaF WA 2 SR w1 B
Question number 21 to 26 carry 2 marks each.
A.P. 8, 14, 20, 26, ... 1 &7 | 9% Y9 414 92 F 72 sfus wm 2

Which term of the A.P. §,14, 20, 26. ... will be 72 more thanits 41st term ?
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Show that tangents drawn at the end points of a diameter of a circle are paralle
BE _BP i

23. s7rfa &, DE || AP 3% DP || AC §, # fag wifwe 5 5= 3¢

In figure, DE ' APand DP| AC.
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The string ofakite is 100 m long and it makes an angle of 60° with the horizontal. Find the height of the kite.
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Froma ¢
pack of 52 playi acks Oiéens o Lt .
playing cards, Jacks, Queens and kings of'red colour are removed, From the remaining

cards, ; e , . s
acard is drawn gt random. Find the probability that drawn card is

(i) a king

(i) a card of red colour,

T o =1 v e v ST AR B A w5t H e a8 ferfa o S v w6

\ > 1 . . 2 . -
Vhen three coins are tossed together, write all possible outcomes and hence find the probability of getting

exactly one head.

T I F fomr = T 39 4 om ® e T3 g9 fird & qfmm 18em 3 6 em # 1 ¥4 fizres = o
T AR T i )

The slant height ofa frustum ofa cone is 4 cmand the perimeters of'its circular ends are 18 emand 6 em

respectively. Find the curved surface area of the frustum.
WUE-H (Section-C)
WO HEAT 27 § 34 TF Welw W 3 S @ B
Question number 27 to 34 carry 3 marks cach.
g Fif 5 3 U@ sraf Hom 3

Prove that \/3 isan irrational number.
PT.O.
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Show that the square ofany positive integer is of the form 3m or 3m + | for some positive integer m.

- P ! » - = = 5 _5.
ag9s Jx' + 6 1?—10-1-5E$“¥Hm?fﬂmamwm.ﬂ@)m$m£Sﬁ'i—J; w1

Obtai 5 5
tain all other zeroes of the polynomial 3x* + 6x' — 2¢° — 10x - §, if two of its zeroes are \ 3 and — 3‘ .

FHHTA 2e = y = 2 7R 4y + 2y = 9 T WE Wrawm T vl H fagan S|
Draw the graphs of the equations 2x + v =2 and 4x + 2y = 9 and comment on the solution.

Haar/OR

TF AP, T T B 11 W@ @ arTRe wm miteg, fe e = 30 7
Find the sumofall 11 terms of an A.P. whose middle termis 30.

wF Tads ABCD & ¥4 A(1,1),B(7,-3),€(12,2) D (7,21) ¥ 155 e Suw T Wi |
3

Find the arca of the quadrilateral ABCD, whose verticesare A(1,1),B(7,-3),C(12,2)and D (7, 21).

o A FiaT— 3

cos52°cosec 38°

—

cos 59°

. T |+ sy |
Evalua!c.2(sin3]a] J[tanli“tnnﬁﬂ”lan?‘f]
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{ ) P . . )
PORS s adiameter of i cirele ol radius 6 cm. T he lenggths PO, QR and RS are equal Semicircles are drawn

L] ¥ )
on PO and QS taking as dumeters as shawn in figure, Find the area of the shaded region.

Wﬁ.’ﬂﬁf&qﬂqﬁ‘r:ﬂﬂﬂﬂl'ﬂfﬁH,S&,ﬁlxﬁ,s-%mmml 3

Ifthe median of'the distribution given below is 28.5, find the values of ¢ and y.

79 3R Class | 0-10 [ 10-20]20-30 [30-40 [ 30-50 | 50-60 | 37 Toml
AN Frequeney | § X 20 | 15 __ 4 —3 60

TTE-7 (Section-D)
fa wifam fa 21w favsi & el w1 s 300 3 smed & o # s E s e E 4
Prove that the ratio olareas of two similar triangles 15 equal to the ratio of the squares of their corresponding

sides.
P.T.O.
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Anacroplane le o .
planc lefl 30 minutes later than the scheduled time and inorder to resch its destination 1500 km

away intime it increases its speed by 250 knvh from the usuel speed. Find its usual epeed.

31aar/OR
U wHEm v @ 9 60 om B T w9 25 cm ) FE Srarm T S|
The perimeter of right triangle is 60 em. Its hypotenuse is 25 cm. Find the area of the triangle.
4.5 cmﬁ?ﬂmﬁqﬂmmﬁ%@ﬁiaﬂqmwﬁnﬁqﬁ#ﬁmmﬁmﬁ“#ﬂ%l
Draw a pair of tangents to acircle of radius 4.5 cm, which are inclined to each other at an angle of 45°,

Haar/OR

AABC &1 e wifen i C.*\=ﬁcm,:\E=5cm3fT’.JBE\C=4S°€1IEHF?‘F!‘%‘W1:{EFW

. s . b
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Construct a AABC in which CA=6cm, AB = 3cm and ZBAC = 45°, then construct a triangle similar to this

6 o
triangle whose sides are = of the corresponding sides of AABC.
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Abird is sitting on the top of'a 100 m high tower. Froma point on the ground, the angle ofelevation of the
bird is 45, The bird flies away horizontally in such a way that it's height remain the same from the ground.
After 10 seconds, (he angle ofelevation of the bird from the same point is 30°. Find the speed of flying of the
bird. [Take \f3 =1.73]
FeTE 220 om R 4T =7 24 em T U e, fm 1w 3= 60 em 3 foo 8 cm STE TF 37 HeH
Wﬁﬁﬂ%ﬁﬁ%wwﬁww%lwﬁiuwmmaﬁm,mﬁm%l em’ TE o1 579 4T
B g B ¥ (n=3.14 wfifem 1) 4
A solid iron pole consists of a cylinder of height 220 cm and base diameter 24 cm, Which is surmounted by
another cylinder of height 60 cm and radius 8 em. Find the mass ofthe pole, given that 1 cm’ of iron has
approximately 8 gm mass. (use t=3.14)

’ HFEr/OR
H H ABC 0 F=wm 3y &, fomii 2B = 90°, AB = 28 cm 71 BC = 21 cm 31 AC 51 2418 5199
T AT a8 BC 1 foroa wrent war e 9o i ¥ | ever 3 S T a i S S5ws
iy
In figure, ABC is aright triangle, £B =90°, AB =28 cmand BC =21 cm. With AC as diameter a semicircle

is drawn and with BC as radius a quarter circle is drawn. Find the area of the shaded region correct upto two

places of decimal.

rT.O.
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Find the mean and mode of the ollowing daty - ‘

| TSR Class | 0-50 ] 50100 T1002 150 [ 150200 | 200 -250 [ 250=300 | 300 - 350

AR Frequeney | 2 3 5 6 3 3 |




